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Examples from yesterday :
@G) : = BE,,*)

A-= EH)
,
N -fi , ow ,B) = LAEGLCV) :

BCAX ,Ayla BGM)
k= ocn.ph = gp that a >ye

u 3 .
preserves the inner rodent orthogonal gp of B)
on R

"
.

- -

is a tofocogical gp .
EI

.

V @ vector mace v real ⇒ F f , o ⇐ PEN
13: Vxv → R g.t

.
we can find abasis

non- degenerate syuue. bslihlarf. of ✓ w.rs . B becomes

Dttxev F yayG) EV s-t .
Bcxigho Bpcerw) e - 7¥99't.IE#iojWi4BCxcyI=BLycx)

5) BGxuyI= a Bay) - Beady ) B is foritrue definite riff 4=0
if XIE V , AER .

÷÷÷÷÷÷÷÷÷÷÷÷:
groups are f. d . EI : V complex vector mace ,

W : Vxv → a Henneman

tf v is complex there inner product ,
i.e . positive

(ee , - - yep , Epa , - - , en Jmt definite antisymmetric complex

ne Gier , -
. . ,iep , epa , . . . , en )

valued fence that is linear

coir-t . the first variable and
Then Bp becomes writ . anhnhnearw.net . the second

.

this new basis UG ,D= unitary group of@h)

Bcoiw) = join; =hxeGLCv) : hcxo.xwt-hlo.us}

§

= LXEGLCV) : X*=X-
'

3
,
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where *
*
is the adj . W -

rt
-

h
. Soap) : = @Cme) in SLCnie )

tf Xe UGH ⇒ fdetxhz .
-such) : = Uch) n sun ,a)

An example of such an h is EI : E normed vector Race
h .

.

Qnx I → Q (not nee. f -d.)
,
let

Iso CE) be the Stace ofhk ,y) : = II. xjyj .

bijective cont . maps
and UCI

,
h) - n

. UCH . T: E→E that reserves
the none

. Then Ise (E)Ez
. Special linear gp is a top . gp .

Shania) -¥GLqdetA=B ⇒ se separable thibert
k top . field spice ,[ k-- R

,@Ohpcfiete field Wfm) = space of continuous

Socar) : = Ogaz) n Shen ,R) unitary operators on H
special oithog . gp . = LU : Ae→te : NE G'3 .

socp.at : = Ocp ,g) nshcpxq.IR)÷÷÷÷÷÷÷÷:÷÷÷÷÷:÷÷BCE ,
F)⇐ IT: E→f : T linear • If Eri a normed race

& continuous) over KAR
,
Q and FA

with Hill= Snp KTXH ⇒ BCE,k) = E* and
talk I

'

the weak - open . top is

ToyohegiesonBE.FI# the weak-* top . on E
't

.

(1) Tn→T in the nonetheless • If E=f is f.d .
dm E=n

not nee. invertible

Iff Tn-T H → o ⇒ BCE ,
f) = BCE) #

invertible
② Tn→T in the stonggse_tr ⇒ GLEE) = Glfnckl

topology if • If E=f=X Hilbert space ,
HTNX -Tx H →o Axe E then Iso LEI = NEH) and

*
on UCH ) the strong open .
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topology and the weak operator
topology coincide

.
EI X metric space ,

Iso CX)

- is "
as good " as X

Gmpadnen&hecalompactn# × opt ⇒ Iso Cx) apt .

Discrete gps x i.e. ¥, lsolx) l-c .
4129

,
xD Iso④ ottomeecx) - Chik)

(pi
.
. )

,
@
*

.

. ) -
.

equi cont . family in CW)
A-LLn.IR) , GLEN ,k)

t
- c - Arteta - Ascot three ⇒ be

since open in Br , ten?
* opt .

EI
.

X opt ⇒ HomerCx) top . op . EI .
#I÷÷÷÷÷¥÷÷÷÷÷÷÷÷÷:÷÷÷PI ⇐ ⇒ oco.nl = Dante) . let us assume now that part o

AE @Cair) ,
A> (en) , - . ,@ s)

,

we unite Ocp .g) =

where
g's Age ,

⇐ n
.

= LAER
"

a Qp(Aot=QpCu)
took 3By defn FAA - Idn -7 n

⇒ detail ⇒ dita - ± , QpCH= - oft Ffp ,
of

⇒ agile , En ⇒
look at f- I '

n⇒ I Aijl E 1.⇒ Knurl ni a

Qft = - oft -20.

bounded in Rn? jeez d

Since OG.IR/=hAebRR : W - r- t - Cee , - - - , en) : change

LAGAuok@iosfdioo.R} ei : - es- e,
basis

⇒ Nhk) is closed in
e's '

.
= ester

R
"

⇒ ocn.RS compact .
ei : - ej jars , - in
and denote V the U.s

.

IT
,

42



w.at
.
the new ban's

.
Oh V the

EI . This shows also that

guards . form Qa will become
qq.az) is not contact

QiCvl-eoEoiltoitoiItfIz@jFsnnaAtesLCnit4.ExProfihte gps are anyact
Then AE I 8) +teeth since inverse limb of o

O O Ine Mod
'

- system of apt . gps .

satisfies Qi Cao)= @
'

fo) it = heed : H=z3 a

⇒ AG @ (v , Qi ) I Girl -_ OG.IR/nsLGilR)

⇒ Ocr ,Qi) is not conyact SOAR)-T

since fort→ no
, At leaves X → Ken

au compact sets - qq.azzg.es?nE%f1:OeG.aD.
_÷÷÷÷÷÷÷÷÷÷f÷÷÷÷÷÷:÷÷÷÷not compact antivenin ulna case Utri) is apt .

second

ocnmpf ppoa.dlfn.pk U Ge) B neg
r compact locally compact andopt not compact .

PI e
'
,
:-c eye,

e's : = eaten PI⇐ ) dim te - n - x .

efg : = ej sejan M Ge) = UG) cpt .

EI ein. -_ E-e, ej⇒e; ¥9
let us consider o

e'on. - eater Abd of IEM Ete ) .
es

'
'
- = ey- es

⇐ IEN
e'
q
: = eyes Is

.

16



¥
.
: - Item : Ku - uh But

(If f⇐⇒)eu¥ )
where E >o and FCM n' a flite
set . if NH) is l - c . I opt ⇒ U Gtf) e Uf.cc O
C Sir

. Up, c
C
.

Uh't Al = Lf > ④ ⇐yt
⇒µGF2t#

Obviously the sbgp
-

f
Since I is fate , if His
Mf . dm ⇒ dim SET =

ug a Ute claim refs.gl.mu.Hilbert )÷÷÷÷÷÷¥÷÷÷¥÷÷÷÷:÷.

(Tn)a UCH) of antony let T : Lead -2EUR )

operators converging to use of 1-3 few)
in the weak operator 170689 . Ef) Cx) =fCx- i) .

We said that the woeset
on UHD ⇒ En) → o Tn

,
Recall that

in the set as well . opt . sutured fats are
But this is ieyonhle dune in ECR)

, fig
since left) is closed in the such functions →
sat ⇒ linin is also ④f. g > → o
unitary hence ldet @ruin If I n→x

and dito =D
.

A Tnf
Now we need to find

:%:mm⇒÷*ns .##
# Da

Ta Ko


